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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ hb H$aZo A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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4) {OZ àíZmo§ ‘| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa ‘| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo ghr ‘mZ|&

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

7) àíZ g§»¶m 22 ‘mZ{MÌ H$m¶© go g§~§{YV h¡ Am¡a 4 A§H$ H$m h¡&

Question No. 22 is related to map-work carrying 4 marks.

8) àíZ g§»¶m 16 go 22 VH$ ‘| Am§V[aH$ {dH$ën h¢&

There are internal choices in Question Nos. 16 to 22.
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IÊS> - AIÊS> - AIÊS> - AIÊS> - AIÊS> - A
SECTION - A

dñVw{Zð> àíZ :
Objective Type Questions :

1) {ZåZ àíZm| Ho$ CÎma H$m ghr {dH$ën M¶Z H$a CÎma nwpñVH$m ‘| {b{IE&
Select the correct answer of the following questions and write in the answer book.
i) ‘marAmZ {H$g amï´> H$m ê$nH$ ~Zr? [1]

A) ’«$m§g ~) BQ>br
g) A‘o[aH$m X) O‘©Zr
Marianne become the allegory for which nation?
A) France B) Italy
C) America D) Germany

ii) A’«$sH$m ‘| 1890 Ho$ XeH$ ‘| H$m¡Z-gr {~‘mar VoOr go ’¡$br? [1]
A) ßboJ ~) [a¨S>anoñQ>
g) ‘bo[a¶m X) nmo{b¶mo
Which disease spread rapidly in Africa in the 1890s?
A) Plague B) Rinderpest
C) Malaria D) Polio

iii) pñnqZJ OoZr ‘erZ {H$g df© ~ZmB© JB©? [1]
A) 1760 ~) 1764
g) 1770 X) 1772
In which year was the spinning Jenny machine made?
A) 1760 B) 1764
C) 1770 D) 1772

iv) amOm a{d d‘m© Zo {H$g joÌ ‘| »¶m{V A{O©V H$s? [1]
A) {MÌH$bm ~) Jm¶Z
g) Z¥Ë¶ X) boIZ
In which field did Raja Ravi Varma earn fame?
A) Painting B) Singing
C) Dancing D) Writing
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v) {ZåZ{b{IV ‘| go H$m¡Z-gm J¡a-nwZM©H«$U ¶mo½¶ g§gmYZ h¡? [1]
A) Ob ~) Ordmí‘ BªYZ
g) àmH¥${VH$ dZñn{V X) dÝ¶ Ord
Which of the following is non recyclable resources?
A) Water B) Fossil fuels
C) Natural Vegetation D) Wildlife

vi) "‘mZg ~mK [aµOd©' pñWV h¢ - [1]
A) Ag‘ ~) amOñWmZ
g) JwOamV X) CÎma àXoe
‘Manas Tiger Reserve’ is situated in -
A) Assam B) Rajasthan
C) Gujarat D) Uttar Pradesh

vii) bmohm BñnmV CÚmoJ Ho$ {b¶o bm¡h A¶ñH$, H$moqH$J H$mob Am¡a MyZm nËWa H$m AZwnmV h¡ - [1]
A) 2 : 4 : 1 ~) 1 : 4 : 2
g) 4 : 2 : 1 X) 2 : 1 : 4
The ratio of iron ore, coking coal and limestone for the Iron and Steel industry is -
A) 2 : 4 : 1 B) 1 : 4 : 2
C) 4 : 2 : 1 D) 2 : 1 : 4

viii) ^maVr¶ g‘wÐVQ> H$s bå~mB© h¡ - [1]
A) 6175.6 {H$‘r. ~) 7615.6 {H$‘r.
g) 5175.6 {H$‘r. X) 7516.6 {H$‘r.
The length of the Indian coastline is -
A) 6175.6 km B) 7615.6 km
C) 5175.6 km D) 7516.6 km

ix) lrb§H$m ñdVÝÌ amï´> ~Zm - [1]
A) 1948 ~) 1950
g) 1952 X) 1958
Sri Lanka emerged as an independent country in -
A) 1948 B) 1950
C) 1952 D) 1958

x) ^maVr¶ g§{dYmZ ‘| "g‘dVu gyMr' H$m {df¶ h¡ - [1]
A) ~¢qH$J ~) ‘wÐm
g) {ddmh X) nw{bg
The subject of the ‘Concurrent List’ in Indian constitution, is -
A) Banking B) Currency
C) Marriage D) Police
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xi) Y‘© H$mo g‘wXm¶ H$m ‘w»¶ AmYma ‘mZZo dmbm ì¶{º$ H$hbmVm h¡ - [1]
A) d¡Ym{ZH$ ~) gmåàXm{¶H$
g) Y‘©{Zanoj X) Om{VdmXr
A person who considers that religion as the main basis of the community is
called -
A) Legal B) Communalist
C) Secularist D) Castiest

xii) bmoH$VÝÌ ‘| {ZåZ ‘| go EH$ {deofVm nmB© OmVr h¡ - [1]
A) Ag‘mZVm d Jar~r ~) gm‘m{OH$ {d{dYVmAm| ‘| gm‘ÁOñ¶
g) ZmJ[aH$m| H$s AmOmXr H$m A^md X) Am{W©H$ {dH$mg H$m A^md
One of the following characteristics is found in democracy -
A) Inequality and Poverty
B) Harmony among Social divisions
C) Lack of civil liberty
D) Lack of economic development

xiii) ‘hmË‘m Jm±Yr amï´>r¶ amoOJma Jma§Q>r A{Y{Z¶‘ H$~ bmJw hþAm - [1]
A) 2001 ~) 2005
g) 2015 X) 2020
When did Mahatma Gandhi National Rural Employment Guarantee Act come
into force?
A) 2001 B) 2005
C) 2015 D) 2020

xiv) M¡H$ Ho$ àmê$n ‘| H$m¡Z-gr ny{V© ŵJVmZH$Vm© Ûmam H$s OmVr h¡ - [1]
A) ImVm g§»¶m ~) M¡H$ H$m H«$‘m§H$
g) ~¢H$ H$m Zm‘ X) ŵJVmZ am{e
Which fulfilment in the format of cheque is filled by the payer?
A) Account number B) Serial number of cheque
C) Name of bank D) Payble amount

xv) Xþag§Mma gw{dYmAm| H$mo gwJ‘ ~ZmZo ‘| à‘wI ¶moJXmZ ahm h¡ - [1]
A) g§Mma CnJ«h ~) ~±qH$J godm
g) aoëdo X) CÚmoJ
The major contribution in making telecommunication facilities accessible is -
A) Satellite B) Banking Service
C) Railway D) Industry
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2) [a³V ñWmZm| H$s ny{V© H$s{O¶o -

Fill in the blanks -

i) Am{W©H$ ‘hm‘§Xr H$s ewê$AmV df© ................. go hþB©& [1]

The Great Depression started in the year _________.

ii) ................ eha ‘| nhbr H$n‹S>m {‘b 1854 ‘| àmaå^ hþB©& [1]

The first cotton mill in _______ city started in 1854.

iii) gmoZ ................... H$s ghm¶H$ ZXr h¡& [1]

Son is a tributary of _______.

iv) ~opëO¶‘ ‘| EH$ hr ^mfm ~mobZo dmbo bmoJ Vrgao ñVa H$s gaH$ma MwZVo h¢ {Ogo ................ gaH$ma
H$hVo h¢& [1]

In Belgium, people speaking the same language effect a third level of government
which is called ________ government.

v) A{YH$mam|, Adgam| Ho$ ‘m‘b| ‘| ñÌr Am¡a nwê$f H$s ~am~ar H$s ‘m§J ................ AmÝXmobZ H$aVm h¡&
[1]

The ________ movement demands equality between men and women in
terms of rights and opportunities.

vi)  ................ H$mo H¥${f Ed§ ghm¶H$ joÌH$ ^r H$hm OmVm h¡& [1]

________ is also called agriculture and related sector.

vii) àm¡Úmo{JH$s ‘| V«rd CÞ{V à‘wI H$maH$ h¡ {OgZo .................. H$mo CËào[aV {H$¶m h¡& [1]

The main factor of rapid improvement in technology, which stimulated
the ______.
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3) A{VbKwÎmamË‘H$ àíZ : {ZåZ àíZm| Ho$ CÎma EH$ eãX AWdm EH$ n§{º$ ‘§o Xr{OE&

Very short answer type questions (Answer the following questions in one word or
in one line) :

i) OmnmZ Ho$ {H$g eha H$mo nhbo EXmo H$hm OmVm Wm? [1]

Which city of Japan was earlier called Edo?

ii) àmoQ>oñQ>|Q> Y‘©gwYma H$s ewê$AmV {H$g Y‘© gwYmaH$ Zo H$s Wr? [1]

Which religious reformer started the protestant reformation?

iii) ^maV ‘| gd©àW‘ qàqQ>J àog H$m¡Z-gr gXr ‘| AmB©? [1]

In which century did the first printing press came to India?

iv) Ama{jV dZm| H$s EH$ {deofVm h¡& [1]

Write one characteristic of reserved forests.

v) nQ>gZ {Z{‘©V gm‘mZ H$m g~go ~‹S>m CËnmXH$ Xoe H$m¡Z-gm h¡? [1]

Which country is the largest producer of jute goods?

vi) ~opëO¶‘ H$s amOYmZr ~«ygoëg ‘| {H$g ^mfm H$mo ~mobZo dmbm| H$m ~hþ‘V h¡? [1]

Which language has the majority of speakers in Brussels, the capital of Belgium?

vii) lrb§H$m ‘| V{‘b ‘w»¶V: {H$g joÌ ‘| ahVo h¢? [1]

In which region of Sri Lanka do Tamils mainly live?

viii) ^maV ‘| {hÝXr g{hV Hw$b {H$VZr ^mfmAm| H$mo g§{dYmZ ‘| AZwgy{MV ^mfm H$m XOm© {X¶m J¶m h¡? [1]

How many languages including Hindi have been given status of scheduled
languages in Indian constitution?

ix) Ag§J{R>V joÌH$ ‘| l{‘H$m| H$s H$moB© EH$ g‘ñ¶m {b{IE& [1]

Write any one problem of labour in unorganised sector.

x) ^maV ‘| Am{W©H$ Zr{V¶m| ‘| XÿaJm‘r n[adV©Z {H$g df© go àmaå^ hþE? [1]

In which year did far reaching changes in economic policies begin in India?

[ Turn Over
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IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~
SECTION - B

bKwÎmamË‘H$ àíZ -  (CÎma eãX gr‘m bJ^J 50 eãX) :
Short answer type questions -  (Answer word limit  approx: 50 words) :

4) ~o«Q>Z-dwS²>g g§ñWmZ na {Q>ßnUr {b{IE& [2]
Write a short note on Bretton Woods institutions.

5) Am{X-Am¡ÚmoJrH$aU {H$go H$hVo h¢? [2]
What is Proto - industrailisation?

6) H$mbr ‘¥Xm H$m g§jon ‘| dU©Z H$s{OE& [2]
Briefly explain black soil.

7) ~hþCÔoer¶ n[a¶moOZmAm| Ho$ Xmof ³¶m h¢? [2]
What are the demerits of multipurpose projects?

8) amÁ¶ amO‘mJ© H$s àmg§{JH$ OmZH$m[a¶m± {b{IE& [2]
Write relevent information of state highways.

9) "gÎmm H$m {dHo$ÝÐrH$aU bmoH$VÝÌ Ho$ {b¶o Amdí¶H$ h¡&' Bg H$WZ Ho$ nj ‘| Xmo VH©$ Xr{O¶o& [2]
‘Decentralization of power is essential for democracy’. Give two arguements in
favour of this statement.

10) "^maV ‘| Om{V ^r amOZr{VJ«ñV hmo OmVr h¡&' BgHo$ Xmo ê$n ñnï> H$s{O¶o& [2]
‘In India, caste also becomes politicized’. Explain its two forms.

11) "^maV ‘| amOZr{VH$ Xbm| Ho$ ^rVa bmoH$VÝÌ H$m A^md EH$ ~‹S>r MwZm¡Vr h¡&' Bg H$WZ na AnZm ‘V ñnîQ>
H$s{O¶o& [2]
Lack of democracy within political parties is a major challenge in India. Explain
your opinion on this statement.
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12) "bmoH$VÝÌ EH$ CÎmaXm¶r, {Oå‘odma Am¡a d¡Y emgZ h¡&' Bg H$WZ H$mo g§jon ‘| ñnï> H$s{O¶o& [2]
‘Democracy is an accountable, responsive and legitimate governance’. Explain
this statement briefly.

13) gmjaVm Xa ³¶m h¡? [2]
What is literacy rate?

14) d¡ídrH$aU à{H«$¶m ‘| ~hþamï´>r¶ H$ån{Z¶m| H$s ³¶m ŷ{‘H$m h¡? [2]
What is the role of multinational corporations in globalisation process?

15) Cn^moº$m {ddmXm| Ho$ {ZnQ>mao Ho$ {bE H$hm± Anrb H$a gH$Vo h¢? [2]
Where can consumers appeal for settlement of disputes?

IÊS> - gIÊS> - gIÊS> - gIÊS> - gIÊS> - g
SECTION - C

XrK© CÎmar¶ àíZ - (CÎma eãX gr‘m bJ^J 100 eãX) :
Long answer type questions - (Answer word limit approx : 100 words) :

16) EH$sH$aU go nyd© BQ>br H$s amOZr{VH$ pñW{V H$m g§{já dU©Z H$s{OE& [3]
Briefly describe the political situation of Italy before unification.

AWdm/OR
amï´> H$s Ñí¶ H$ënZm {H$g àH$ma àñVwV H$s JB©? g‘PmB¶o&
How was the visualising the nation presented?

17) ^maV ‘| Mm¶ CËnmXZ Ho$ {bE Amdí¶H$ ^m¡Jmo{bH$ XemAm| Ed§ CËnmXZ joÌm| H$m dU©Z H$s{OE& [3]
Describe the necessary geographical condition and production areas for tea
production in India.

AWdm/OR
^maV ‘| a~‹S> CËnmXZ Ho$ {bE Amdí¶H$ ^m¡Jmo{bH$ XemAm| Ed§ CËnmXZ joÌmo H$m dU©Z H$s{OE&
Describe the necessary geographical condition and production areas for rubber
production in India.

[ Turn Over
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18) amOZr{VH$ Xbm| H$s Amdí¶H$Vm Ho$ H$moB© VrZ H$maU ñnï> H$s{O¶o& [3]
Explain any three reasons for the need of political parties.

AWdm/OR
amOZr{VH$ Xb H$m AW© ~VmVo hþE H$moB© Xmo à‘wI H$m¶© ñnï> H$s{O¶o&
Writing the meaning of a political party, explain its any two main functions.

19) "^maV ‘| V¥Vr¶H$ joÌH$ ‘hËdnyU© hmo J¶m h¡&' Bg H$WZ Ho$ nj ‘| H$moB© VrZ VH©$ Xr{OE& [3]
‘The tertiary sector has become important in India’. Give any three arguments in
favour of this statement.

AWdm/OR
Amn gmd©O{ZH$ Am¡a {ZOr joÌH$ ‘| A§Va H$mo H¡$go ñnï> H$a|Jo?
How would you explain the difference between public and private sector?

IÊS> - XIÊS> - XIÊS> - XIÊS> - XIÊS> - X
SECTION - D

{Z~ÝYmË‘H$ àíZ - (CÎma eãX gr‘m bJ^J : 250 eãX) :
Essay type questions - (Answer word limit approx : 250 words):

20) amï´>r¶ AmÝXmobZ ‘| ‘hmË‘m Jm§Yr Ho$ ¶moJXmZ H$m {dñVma go dU©Z H$s{OE& [4]
Describe in detail the contribution of Mahatma Gandhi in the national movement.

AWdm/OR
Z‘H$ ¶mÌm H$m {dñVma go dU©Z H$s{OE&
Describe the Salt March in detail.

21) {ZåZ{b{IV na {Q>ßnUr {b{IE - [4]
i) G U H$s eV]
ii) ‘wÐm H$s H$m¶©
Write a note on the following.
i) Terms of credit
ii) Functions of money

AWdm/OR
^maV ‘| AZm¡nMm[aH$ gmI H$s pñWVr H$mo g‘PmB¶o&
Explain the condition of informal credit in India.
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22) àíZ H$m CÎma {X¶o J¶o ‘mZ{MÌ ‘| Xr{OE :-

Write the answer in the given map -

{X¶o J¶o ^maV Ho$ aoIm ‘mZ{MÌ ‘| {ZåZ{b{IV bm¡h A¶ñH$ ImZm| H$mo A§{H$V H$s{OE - [1+1+1+1=4]
A) aËZm{Jar

~) {MÌXþJ©

g) ~obm{S>bm

X) ‘¶ya^§O

Mark the following Iron ore mines in the given outline map of India.

A) Ratnagiri

B) Chitradurga

C) Bailadila

D) Mayurbhanj

AWdm/OR

{X¶o J¶o ^maV Ho$ aoIm ‘mZ{MÌ ‘| {ZåZ{b{IV bm¡h A¶ñH$ ImZm| H$mo A§{H$V H$s{OE -

A) ~„mar

~) MÝÐnwa

g) JwAm

X) XþJ©

Mark the following Iron ore mines in the given outline map of India.

A) Ballari

B) Chandrapur

C) Gua

D) Durg


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